
Q1
Simplify the following, by collecting like terms:

a) 3x + 4y + 12x – 5y


b)
9f + 16g – 15f – 30g

c)      14ab + 12cd – ab + 2cd

d)
13x2 – 9x – x2 + 4x

e)      8y2 – 4y + 16y – y2 + 28

Q2
Simplify the following



a)  
x ( x

b)
3a ( 4b

c)
2d ( -4e

d)
3 ( a ( b
e)
20x ( 4

f)
x3 ( x2
Q3
Expand the following, by multiplying out the brackets, and simplify where possible.



a)
2 (x + y)

b)
12 (x – 2)

c)
20 (2 – z)



d)
-2 (x – 5)

e)
-4 (5 – z)

f)
x (y + 2)



g)
x ( y + x)

h)
4 (a + 2b) – (a + 2b)



i)
x2 (x + 2y)

j)
5 (p3 + p)


k) a (b + c) + b (a + c) + c(a + b)


Q4
Multiply out the brackets and simplify your answers where possible:

a) (x + 4)(x +2)
b)
(y + 8)(y + 5)
c)
(z + 10)(z + 3)

Q5
Expand and simplify:

a)
(x + 1)(x + 2)
b)
(x + 5)(x – 1)
c)
(x – 3)(x + 1)


d)
(x – 1)(x – 2)
e)
(x – 3)(x – 4)
f)
(2x +1)(2x +2)


g)
(2x + 1)(x + 1)
h)
(3x –1)(3x –1)
i)
(2 + 2x)(2x – 1)

Exam style questions

Q6
Simplify the following expression, as far as possible:


a)
( 3x2y2 )( 2x3y-2 )


b)
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(4 marks)

Q7
Tennis balls can be bought in small boxes containing 6 tennis balls or in large boxes containing 12 tennis balls.  Tom buys x small boxes.

a)
Write down, in terms of x, the total number of tennis balls he has bought in small boxes.









(1 mark)

b)
He buys 3 fewer large boxes than small boxes.  Write down, in terms of x, how many large boxes he bought.






(1 mark)

c)       Write down, in terms of x, the total number of tennis balls he has bought in the    

          large boxes.









(1 mark)

d)
Write down, in terms of x, the total number of tennis balls bought altogether,    simplifying your answer as far as possible.




(3 marks)


Q1
a)
15x – y

b)
-6f – 14g


c)
13ab + 14cd

d)
12x2 – 5x


e)
7y2 +12y +28

(5 marks)

Q2
a)
x2

b)
12ab


c)
-8de

d)
3ab


e)
5x

f)
x

(6 marks)

Q3
a)
2x + 2y
b)
12x – 24
c)
40 – 20z


d)
-2x + 10
e)
-20 + 4z
f)
xy + 2x


g)
xy + x2
h)
3a + 6b
i)
x3+ 2x2y



j)
5p3 + 5p
l)
2ab + 2ab + 2ac 

(11 marks)

Q4
a)
x2 + 6x + 8


b) y2 + 13y + 40

c)
z2 + 13z + 30

(3 marks)

Q5
a)
x2 + 3x + 2

b)
x2 + 4x - 5

c)
x2 – 2x – 3


d)
x2 – 3x + 2

e)
x2 – 7x + 12

f)
4x2 + 6x + 2 


g)
2x2 + 3x + 1

h)
9x2 – 6x + 1

i)
4x2 + 2x – 2

(9 marks)

Exam style questions

Q6
a)
6x5
(2 marks)

b)
2a5b

(2 marks)

Q7
a)
6x


(1 mark)


b)
x - 3

(1 mark)

c) 12(x – 3)

(1 mark)

d)
12(x – 3) + 6x = 12x – 36 + 6x

   
   

   = 18x – 36         [ 18 (x – 2) ]


(3 marks)
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